
Mid-Century 
Chair & Barstool
A S S E M B LY  I N S T R U C T I O N S

PARTS LIST:

A Frame

B Backrest

C Seat

REQUIRED TOOLS:

• Screwdriver

HARDWARE:

D (6) Bolts* E (5) Seat Screws F (1) Allen Key

NOTES:

•	 Ensure you have all the required pieces before assembly.
•	 Inspect all pieces for damage before assembly. Do not assemble  

if any pieces are broken or damaged.
•	 Assembly instructions are applicable for mid-century chairs  

and barstools.

S T E P  1

Stand frame (A) upright, align the backrest (B) with the 
four holes on the top back of the chair frame. The smaller 
screw holes indicate the top of the backrest, ensure this  
is aligned with the top two holes in the frame.

SMALLER
SCREW HOLES

B

A

S T E P  2

Secure the backrest to the frame by using 4 bolts (D) 
with the allen key (F) provided. 

D

S T E P  3

Place the seat (C) on a clean, elevated flat surface with 
the underside of the seat facing up.

UNDERSIDE

C

W W W. L A N C A S T E R TA B L E A N D S E AT I N G . C O MM I D - C E N T U R Y  C H A I R  & B A R S T O O L  •  A S S E M B LY  I N S T R U C T I O N S



Mid-Century 
Chair & Barstool
A S S E M B LY  I N S T R U C T I O N S

S T E P  4

Flip the chair frame upside down and rest on top of the 
seat. The narrow end of the seat should be towards the 
back of the chair frame, with the wide end being at the 
front of the chair frame. Center the frame on top of 
the seat, in line with the predrilled holes in the center 
of the seat.

UNDERSIDE

S T E P  5

Insert and securely tighten 2 bolts (D) into the  
predrilled holes in the center of the seat with the allen 
key (F) provided. Ensure bolts are fully tightened.

D

S T E P  6

Using a screwdriver (not included), secure the seat 
to the frame by inserting the 5 seat screws (E) into 
the frame tabs.

E

S T E P  7

Ensure all screws and 
bolts are tightened  
fully. Stand chair  
upright for usage.

* B O LT  & S C R E W  I N F O R M AT I O N

•	 Wooden Back (164BKMCMHRDW)  
Bolt 1/4*30 (4 pieces) 

•	 Wooden Seat (164STMCMHRDW) 
Bolt 1/4*35 (2 pieces), and Screw Q5.5*16 (5 pieces)

•	 Vinyl Back (164BKMCMHRDV) 
Bolt 1/4*35 (4 pieces) 

•	 Vinyl Seat (164STMCMHRDV) 
Bolt 1/4*30 (2 pieces), and Screw Q5.5*16 (5 pieces)   

W W W. L A N C A S T E R TA B L E A N D S E AT I N G . C O MM I D - C E N T U R Y  C H A I R  & B A R S T O O L  •  A S S E M B LY  I N S T R U C T I O N S


